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4263+ 0.0
p1 -37.37+ 0.00

TP delay

TVC(cbch) (0,7,4

[ns]

-1z, yaze+u4 | 25
4279+ 0.0
pl -35.36+ 0.00

- pO
- C =
1 1 -
50 100
TP delay [ns]
TVC(cbch) (0,7,8)
-1z z43e+05 / 25
= pO 4290+ 0.0
pl -36.48+ 0.00
-
1 i
50 100
TP delay [ns]
TVC(c,b ch) (0o, 7 12

pO

1o, zove+U5 / 25
4269+ 0.0
pl -34.35+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (0,7,1)

e, po

AT 1 nuz, (93e+u4 [ 25
4274+ 0.0
p1 -37.67 + 0.00

TP delay

TVC(c,b ch) (0 7,5

[ns]

=1 1ug Yobe+u4 / 25
4282+ 0.0
pl -36.02 + 0.00

TP delay

TVC(c,b ch) (0 7,9

[ns]

~ 1 naiy ysze+us [ 25
4294+ 0.0
-36.5 % 0.0

1
50 00

TP delay

TVC(c,b Ch) (0, 7 13

[ns]

T nun.yrae+U5 /25
4289+ 0.0
p1 -36.36 + 0.00

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

4000

3000

2000

1000

0

1000

TVC(cbch) (0,7,2)

= PO

X~ 1 nuig 1uve+u4 [ 25
4296+ 0.0
p1 -37.96+ 0.00

TP delay

TVC(cbch) (0,7,6

[ns]

=1 nur 189e+U5 / 25
4279+ 0.0
pl -35.24 + 0.00

F= P°
[ C =28.37 [ps/ch] .
5(') 10'0
TP delay

TVC(eb,oh)=(0, 7, 10

pO
pl

[ns]

T 1nuz. Zoze+U6 / 25
4299+ 0.0
-35.84 + 0.00

1
100

TP delay

TVC(cbch) (0,7,14

= pD

[ns]

T 1nu,145e+05 / 25
4289+ 0.0
pl -35.61+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,3)

e po

A1y, zaze+U4 | 25
4290+ 0.0
-36.97 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (0 7,7

-1 U bu3e+Us / 25
4270+ 0.0
-34.6 + 0.0

1
100

TP delay [ns]

TVC(c,b ch) (0, 7

T, 4b4e+u6/25
4303+ 0.0
-36.68 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 7 15

-1 nuig.ysoe+u5 / 25
4300+ 0.0
-35.97 + 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,0)

AT r4/e+04 /25
po 4275+ 0.0
pl -36.12+ 0.00

TP delay [ns]

TVC(cbch) (0.8,4

[ C =28.62 [ps/ch]

T z1se+u4 / 25
pO 42754 0.0
p1 -34.95+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 8,8

1L gooe+U5 / 25
pO 4294+ 0.0
pl -36.34 + 0.00

TP delay [ns]

TVC(cbch) (0,812

T p.uze+U5/ 25
pO 4308+ 0.0
pl -36.92 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,81

AT 1 nuzouLe+ud [ 25
Fee, po 4258+ 0.0
pl -34.95+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,5

Cnua /(e+u4 [ 25
- pO 4268+ 0.0
-34.35+ 0.00

[ C=29.11 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 8,9

Ty 3/e+u5/ 25
po 4302+ 0.0
pl -35.71+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (0,8,13

~ 1 nu, 1bYe+U5 / 25
= pO 4318+ 0.0
p1 -36.9+ 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(cbch) (0,8,2)

A~ 1 nuiz 1uoe+u4 / 25
__— po 4271+ 0.0
o pl -35.7+ 0.0

3000

TP delay [ns]

TVC(cbch) (0,86

- Uy, 382e+04 [ 25
- pO 42911 0.0
[ pl -35.63+ 0.00

TP delay [ns]

TVC(cbch) (0, 8 10

1 nuiLyyse+U6 / 25
__ DO 4327+ 0.0
L pl -36.74 + 0.00

TP delay [ns]

TVC(cbch) (0,814

1000

1 nup,295e+U5 / 25
- pD 4316+ 0.0
L pl -37.29+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,3

A” 1 nuiz,bbae+ud 25
- po 4290+ 0.0
pl -36.12+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,7

- 11U Uobe+us / 25
pO 4292+ 0.0
p1 -35.42:+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 8

AR baue+u6/25
pO 4316+ 0.0
p1 -36.44 + 0.00

TP delay [ns]

TVC(C, bch) (0,815

T nus319e+U5 / 25
[aeee, po 4305+ 0.0
p1 -36.29 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,0)

A7 1 nui ygye+u4 / 25
po 4242+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(cbch) (09,4

-1 nuz,0use+ud / 25
pO 4239+ 0.0
pl -35.38:+ 0.00

e 4
% i
TP delay [ns]
TVC(cbch) (O 9,8

© i 3o3e+U5 / 25
po 4271+ 0.0
pl -35.34+ 0.00

TP delay [ns]

TVC(cbch) (0,9,12

T o, rze+U5/25
pO 4270+ 0.0
pl -35.13+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,1)

AT 1z lrze+ud |25
po 4236+ 0.0
p1 349+ 0.0

TP delay [ns]

TVC(c,b ch) (0 9,5

“nu2y/e+u4 [ 25
pO 4257+ 0.0
pL -35.26+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,9

~ 1 nuy.3u1e+Us / 25
po 4258+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(C, bch) (0,9,13

1 nug puge+U5 / 25
onese pO 4247+ 0.0
p1 34.3+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000
3000

2000

4000

3000
2000

1000

1000

0

TVC(cbch) (0,9,2)

A~ 1nuig z44e+04 [ 25
po 4259+ 0.0
pl -36.21+ 0.00

TP delay [ns]

TVC(cbch) (0,9,6

T .44 /e+04 [ 25
4255+ 0.0
-35.61+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (0, 9 10

T z.00e+U6 / 25
po 4291+ 0.0
pl -35.64 + 0.00

1
100

TP delay [ns]

TVC(cbch) (0,9,14

T g 514e+05 / 25
pD 4257+ 0.0
pl -33.98 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,3)

AT 1 nug.uyze+ud [ 25
po 4258+ 0.0
p1 -35.43+ 0.00

TVC(c,b ch) (0 9,7

1
100

TP delay [ns]

- 1nu 19e+U5 / 25
pO 4270+ 0.0
pL -36.53+ 0.00

TVC(c,b ch) (0, 9

TP delay [ns]

AR buze+u6/25
pO 4287+ 0.0
-36.33+ 0.00

1
100

TP delay [ns]

TVC(C, bch) (0,9,15

~ 1 nui/ pooe+U5 / 25
po 4272+ 0.0
p1 -34.72 + 0.00

TP delay [ns]



4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 10 0)

T rnuiLpbrze+u4 [ 25
- pO 4264+ 0.0
-34.09 + 0.00

[ C =29.33 [ps/ch]

1
50 100

TP delay [ns]

TVC(Cbch) (o, 10 4

- rnuz31e+04 [ 25
=5 po 4286+ 0.0
pl -36.52+ 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(0, 10,8

- 1nu z1ne+u4 [ 25
4271+ 0.0
-35.2+ 0.0

TP delay [ns]

TVC(Cbch) (o, 10 12

T rnun.usre+us / 25
3 po 4312+ 0.0
pl -36.47 + 0.00

P R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,10,1)

AT 1 nuiL ro3e+uU4 [ 25
- po 4262+ 0.0
p1 -34.26 + 0.00

[ C=29.19 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (0, 10 5

-1 U bbbe+u4 [ 25
- pO 4294+ 0.0
pL -37.23+ 0.00

TP delay [ns]

TVC(eb.oh)=(0, 10,9

<1 nuiz bboe+us / 25
= pO 4288+ 0.0
p1 -36.42+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 10 13

T nugoole+us/ 25
pO 4306+ 0.0
p1 -35.9+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(CbCh) (0,10,2)

- C = 28.90 [ps/ch]

1
50 100

TP delay [ns]

TVC(Cbch) (o, 10 6

T nuy101e+04 / 25
- pO 4293+ 0.0
L pl -36.64 + 0.00

A~ nuig z40e+04 | 25
- po 4271 0.0
[ p1 -34.6 + 0.0

TP delay [ns]

TVC(cbch) (0, 10 10

1 nuiL 3oBe+U6 / 25
= po 4300+ 0.0
N p1 -36.37 £ 0.00

TP delay [ns]

TVC(CbCh) (o, 10 14

1000

T vy sz1e+05 / 25
= pD 4315+ 0.0
L pl -36.74 + 0.00

TP delay [ns]
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1000

4000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,10,3)

[ C =28.76 [ps/ch]

A7 1 nuz.4use+u4 | 25
po 4286+ 0.0
pl -34.77 + 0.00

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (0, 10 7

S rnan z2.54e405 [ 25
pO 4314+ 0.0
p1 -37.06+ 0.00

TP delay [ns]

TVC(Cbch) (0, 10 11

~ 1 nui 3bae+u6 / 25
4295+ 0.0
-34.9 + 0.0

TP delay [ns]

TVC(cbch) (0, 10 15

-1 nup.uLbe+U5 / 25
[aeee, po 4308+ 0.0
p1 -36.96 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

TVC(CbCh) (0,11,0)

AT 1nuiLyise+ud /25
4215+ 0.0
p1 -34.57 + 0.00

TP delay

TVC(cbch) (0,11,4

[ns]

-1 nuz,usge+ud / 25
4220+ 0.0
-33.99+ 0.00

[y po
p1
3000 - N
2000 |- N
wor C =29.42 [ps/ch] ™, ]
% i
TP delay [ns]
TVC(c,b, ch) (0, 11 8) -
T nug zibe+U4 5
A0, po 424;‘
pl -34.59 + 0.00
3000 - T
2000 7
10r C =28.91 [ps/ch] ™, 7]
4 % i
TP delay [ns]

4000 =

3000

2000

1000

TVC(cbch) (0,11, 12

X~ 11w yuge+Us / 25
po 4262+ 0.0
pl -35.47 + 0.00

TP delay

PR RS SR B
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 E,

3000

2000

1000

4000 E,

3000

2000

1000

TVC(Cbch) (0,11,1)

e, po

AT rnuzzzse+ud [ 25
4219+ 0.0
pl -35.15+ 0.00

TP delay

TVC(cbch) (0,11,5

[ns]

-1 nu 384e+04 [ 25
4247+ 0.0
pl -34.79 + 0.00

TP delay

TVC(eh.eh)=(0, 11, 9

po

[ns]

T nuw, r22e+U5 [ 25
4256+ 0.0
p1 -34.49 + 0.00

TP delay

TVC(cbch) (0,11,13

pO

[ns]

)

-1 U 4. pbe+Us / 25
4256+ 0.0
p1 -35.32+ 0.00

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000 [,
3000
2000

1000

TVC(CbCh) (o, 11 2)

=, PO

~1nug1v4e+04 [ 25
4233+ 0.0
p1 -35.04+ 0.00

TP delay

TVC(cbch) (0,11,6

pO
p1

[ns]

-1 B18e+U4 / 25
4269+ 0.0
-35.87 + 0.00

TP delay

TVC(cbch) (0,11, 10

[ns]

X1 nuiL Yyooe+U6 / 25
po 4237+ 0.0
pl -33.99+ 0.00

TP delay

TVC(cbch) (0,11, 14

[ns]

K71 nuig o3oe+U5/ 25
po 4270+ 0.0
pl -35.9+ 0.0

TP delay

PR SR T
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,11,3)

e po

AT 1, ryoe+ud [ 25
4240+ 0.0
p1 -34.93+ 0.00

TP delay

TVC(cbch) (0,11,7

pO

[ns]

-1 nui B14e+U5 / 25
4248+ 0.0
pl -34.07 + 0.00

TP delay

TVC(e.b.eh=(0, 11, 11

pO

[ns]

1 nuiL BU3e+u6 / 25
4257+ 0.0
p1 -34.95+ 0.00

TP delay

TVC(cbch) (0,11,15

[ns]

)

T nun,147e+U5/ 25
4260+ 0.0
p1 -34.65+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (o, 12 0)

~rnuiLplye+u4 / 25
= pO 4266+ 0.0
p1 -35.34+ 0.00

TP delay [ns]

TVC(Cbch) (o, 12 4

=i, gge+ud / 25
4278+ 0.0
-37.7+ 0.0

50 10'0
TP delay [ns]

TVC(eb,oh)=(0, 12,8

T il 1u1e+U5 / 25
= pO 4261+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(Cbch) (o, 12 12

1, page+U5 / 25
pO 4270+ 0.0
pl -35.44+ 0.00

L n n n n 1 n
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,12,1)

A1z 138404 | 25
e, po 4279+ 0.0
pL -37.61% 0.00

TP delay [ns]

TVC(c,b Ch) (0, 12 5

T nu3ze+u4 [ 25
e pO 4269+ 0.0
pL -37.16+ 0.00

TP delay [ns]

TVC(eb.oh)=(0, 12,9

~ 1 nuiLyuse+us / 25
pO 4284+ 0.0
pl -36.59 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 12 13

T nup.34/e+U5/ 25
frvase pO 4272+ 0.0
p1 -35.95+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

0

4000 [,
3000
2000

1000

TVC(CbCh) (0,12,2)

X~ 1z z3ze+04 [ 25
-, po 4274+ 0.0
[ p1 -36.37+ 0.00

3000

TP delay [ns]

TVC(Cbch) (o, 12 6

=1 nurLuY3e+u5 / 25
e pO 4270+ 0.0
[ pl -36.82+ 0.00

TP delay [ns]

TVC(cbch) (0, 12 10

T a4 /3e+U6 / 25
po 4284+ 0.0
p1 -36.14 + 0.00

TP delay [ns]

TVC(CbCh) (o, 12 14

~ 1 nup.gr3e+U5 / 25
pD 4277+ 0.0
pl -35.55+ 0.00

P R T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,12,3)

A1 nuiz, (8re+ud [ 25
po 4298+ 0.0
pL -36.86+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 12 7

1 nu g 8e+us | 25
po 4296+ 0.0
p1 -37.07 + 0.00

1(;0
TP delay [ns]

TVC(Cbch) (0, 12 11

T nuiz.z93e+U6 / 25
4292+ 0.0
-36.3 + 0.0

1
100

TP delay [ns]

TVC(cbch) (0, 12 15

T inan g.39e+U5 / 25
po 4277+ 0.0
p1 -36.03+ 0.00

TP delay [ns]



TVC(CbCh) (o, 13 0)

4000

3000

2000

1000

Tz szoe+u4 | 25
pO 4275+ 0.0
p1 359+ 0.0

TP delay [ns]

TVC(Cbch) (o, 13 4

4000

T 1nuy,zb4e+u4 | 25
=5 po 4293+ 0.0
pl -36.91+ 0.00

3000 [ ]
2000~ 7]
1000~ C ]
0, = 00 -
TP delay [ns]
TVC(eb,oh)=(0, 13,8)
~ 1 nun, 153e+U5 / 25
4000 o pO 4312 0.0
pl -34.3+ 0.0
3000 - 71
2000~ 7]
wor C =29.16 [ps/ch] .
. -

0

50

1
100

TP delay [ns]

TVC(Cbch) (o, 13 12

4000

3000

2000

1000

3,12)
1 nuiL So/e+U6 / 25
= po 4295:‘
pl -34.24+ 0.00
[C=29.20 [ps/ch] ™, 1]

50

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,13,1)

A1 iz ygae U4 | 25
e po 4274+ 0.0
pL -36.84+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 13 5

S rnunLalie+us /25
== po 4295+ 0.0
pl -36.93 % 0.00

TP delay [ns]

TVC(eb.oh)=(0, 13, 9

- /i 1i4e+06 ] 25
e, pO 4327+ 0.0
pL -34.2+ 0.0

[ C =29.24 [ps/ch] . ]

50

1
100

TP delay [ns]

TVC(c,b ch) (0, 13 13

pO

p1

T nuiLa47e+U6 / 25
4297+ 0.0
-35.56 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (0,13,2)

K™ nui r40e+04 | 25
F-. po 4276+ 0.0
[ p1 -35.46 + 0.00

3000

TP delay [ns]

TVC(Cbch) (o, 13 6

- 11Uy, r39e+U5 / 25
- pO 4314 0.0
[ pl -37.08+ 0.00

TP delay [ns]

TVC(cbch) (0, 13 10

1 nuis,0ube+U6 / 25
po 4343+ 0.0
p1 -34.42 + 0.00

- C =29.05 [ps/ch] ™. 1

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,13,3)

AT 1nuig, 4/e+U5/ 25
- po 4295+ 0.0
p1 -37.09 + 0.00

TP delay [ns]

TVC(c,b Ch) (0, 13 7

= 1 U Zove+us / 25
= po 4302+ 0.0
p1 -36.37 + 0.00

TP delay [ns]

TVC(Cbch) (0, 13 11

Tinug 1/ /e+u6 /25
4342+ 0.0
-35.4+ 0.0

50

1
100

TP delay [ns]

TVC(CbCh) (o, 13 14

pD
pl

1 nuiL4ude+U6 / 25
4295+ 0.0
-34.86 + 0.00

- C = 28.69 [ps/ch]

50

P
100

TP delay [ns]

1
100

TP delay [ns]

TVC(cbch) (0, 13 15

4000 [Gue.

3000

2000

1000

T nui apze+U6 / 25
4315+ 0.0
-36.35+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(CbCh) (o, 14 0)

b po

Tz zz0e+04 [ 25
4242+ 0.0
p1 -36.43 + 0.00

TP delay [ns]

TVC(Cbch) (o, 14 4
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TP delay [ns]
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1000

TVC(cbch) (2,3,2)

X1 i, 11se+ud | 25
-, po 4270+ 0.0
o pl -36.13+ 0.00
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TP delay [ns]

TVC(cbch) (23,6

“ a9 rge+ud [ 25
- pO 4274+ 0.0
[ pl -35.82+ 0.00

3000

TP delay [ns]

1000

0

TVC(cbch) (2, 3 10

pO
pl

1 nuiLbB4e+U6 / 25
4314+ 0.0
-35.95+ 0.00

TP delay

TVC(cbch) (2,3 14

[ns]

T z1se+U5 / 25
4276+ 0.0
pl -34.54 + 0.00
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[ns]
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AT 1 nug.zoze+ud [ 25
po 4266+ 0.0
p1 -35.81+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,7

- 1nu.43/e+U5/ 25
pO 4250+ 0.0
p1 -34.96+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 3

pO
pl

T aaue+u6/25
4302+ 0.0
-35.62 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 3 15

e, pO

T nai.4z0e+U5 / 25
4277+ 0.0
-35.76 + 0.00

TP delay [ns]
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1000

TVC(cbch) (2,4,0)

AT 1nuis41e+04 /25
po 4262+ 0.0
p1 -34.92+ 0.00

TP delay [ns]

TVC(cbch) (24,4

-z 3u5e+04 / 25
pO 4268+ 0.0
p1 -35.79:+ 0.00

e 4
% o
TP delay [ns]
TVC(cbch) (2 4,8

T 1nug ps4e+u4 | 25
po 4306+ 0.0
pl -38.26 + 0.00

TP delay [ns]

TVC(cbch) (2,4,12

- 11y pube+U5 / 25
pO 4293+ 0.0
pl -34.44 + 0.00
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pl -34.47 + 0.00

C =29.01[ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (2 4,5

- 1nu.413e+04 / 25
- pO 4277+ 0.0
p1 -35.84 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 4

T nuigo/e+U5 [ 25
- pO 4307+ 0.0
p1 -37.11+ 0.00

TP delay [ns]

TVC(C, bch) (24,13

T nus.pu/e+us / 25
P pO 4281+ 0.0
pl -34.92+ 0.00

TP delay [ns]
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2000
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3000
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1000
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3000
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1000

TVC(cbch) (2,4,2)

A7 1nug 1sse+ud [ 25
_- po 4256+ 0.0
o pl -35.28 + 0.00

3000

TP delay [ns]

TVC(cbch) (24,6

1000

T z.4ze+04 /25
- pO 4289+ 0.0
- pl -36.76 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(2, 4, 10

1 nuiL349e+U6 / 25
DO 4322+ 0.0
pl -36.95+ 0.00

TP delay [ns]

TVC(cbch) (24,14

Tz, fr9e+U5 / 25
pD 4285+ 0.0
pl -34.99 + 0.00

TP delay [ns]
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TVC(cbch) (2,4,3

AT rnuz1ure+ud [ 25
- po 4279+ 0.0
p1 -36.3+ 0.0

TP delay [ns]

TVC(c,b ch) (2 4,7

~ U, 383e+04 / 25
- pO 4284+ 0.0
p1 -36.24 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 4

Sy /1e+u6/25
- pO 4326+ 0.0
pl -37.28 + 0.00

TP delay [ns]

TVC(C, bch) (24,15

Tinuzze+U5/ 25
= pO 4287+ 0.0
p1 -34.87+ 0.00

TP delay [ns]
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X~ 1w rure+U4 /25
po 4274+ 0.0
p1 -35.78 + 0.00
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Tz (re+V4 /25
pO 4247+ 0.0
p1 -36.33+ 0.00
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1 1 -
50 100
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-1 nuiLUbze+U5 / 25
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-34.39+ 0.00
3000 - ]
2000 = ]
-
oo C = 29.08 [ps/ch] ™, 1]
1 1 -
0 50 100
TP delay [ns]
TVC(c,b ch) (2, 5 12)
-1 nug pyye+us / 25
2000 [, pO 4282+ 0.0
pl -34.69 + 0.00
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AT 1 nuiLy/se+u4 | 25
po 4267+ 0.0
p1 -35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (2 55

-1 U bgbe+u4d [ 25
pO 4259+ 0.0
pL -36.92:+ 0.00

TP delay [ns]

TVC(c,b ch) (2 59

-1 nui/ puYe+us / 25
pO 4285+ 0.0
p1 -34.28+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 5 13
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p1

Tinun 3.89e+U5 /25
4290+ 0.0
-33.87+ 0.00
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- po 4281+ 0.0
[ p1 -36.52+ 0.00
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TP delay [ns]

TVC(cbch) (2,56

1 nu,Ugbe+u4 / 25
- pO 4260+ 0.0
- pl -35.91+ 0.00

TP delay [ns]

TVC(eb,oh)=(2, 5, 10

© 1 nuiLb18e+U6 / 25
= po 4294+ 0.0
N p1 -34.72+ 0.00

TP delay [ns]

TVC(Cbch) (2, 5 14
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~ g, szoe+U5 / 25
4297+ 0.0
-34.77 + 0.00
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AT 1 nuz.439e+U4 [ 25
- po 4281+ 0.0
p1 -36.69 + 0.00

TP delay [ns]

TVC(c,b ch) (2 57

- 11U bbbe+us / 25
pO 4264+ 0.0
p1 -36.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 5

T b‘Jie+U6/25
pO 4299+ 0.0
p1 -34.21+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 5 15

T inun.43ze+U5/ 25
4283+ 0.0
-34.51+ 0.00
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100

TP delay [ns]



TVC(cbch) (2,6,0)
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A1 nug s4se+u4 [ 25
po 4256+ 0.0
pl -35.22+ 0.00
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TVC(cbch) (26,4
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T B8 /e+u4 [ 25
- pO 4319+ 0.0
pl -36.01+ 0.00
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1000 C 7
1 1 -
50 100
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TVC(cbch) (2,6,8)
T, (z4e+04 [ 25
4000 fum, pD 4303+ 0.0
-34.63+ 0.00
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wor C =28.88 [ps/ch] ™, 7
1 1 -
¢ 50 100
TP delay [ns]
TVC(c,b ch) (2, 6 12)
~ 1 nug,u4ze+04 25
4000 = 4279+ 0.0
-32.77 + 0.00
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50 100
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TVC(cbch) (2,6,1

AT nuig.z45e+U4 [ 25
- po 4265+ 0.0
pl -35.47+ 0.00

TP delay [ns]

TVC(c,b ch) (2 6,5

-1 nui g1be+u4 / 25
- pO 4321+ 0.0
-34.78+ 0.00

[ C=28.75[ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 6,9

~ 1 nuw 3g8e+u4 / 25
- po 4322+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(C, bch) (2,6,13

T nugurve+ud [ 25
4286+ 0.0
-34.52+ 0.00

[ C =28.97 [ps/ch]

PR BRSNS |
50 100
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o pl -36.02+ 0.00
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TVC(cbch) (26,6

- C = 28.33 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (2, 6 10

~ i, (g/e+U5 / 25
- po 4342+ 0.0
L pl -36.24 + 0.00

- 1nug3z24e+04 [ 25
- pO 4315+ 0.0
[ 353+ 0.0

TP delay [ns]
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T s.49e+u4 /25
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-35.15+ 0.00
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TVC(cbch) (2,6,3

AT 1 nus.ooLe+ud [ 25
o po 4278+ 0.0
pl -35.52+ 0.00

TP delay [ns]

TVC(c,b ch) (2 6,7

-1 nu bule+ud / 25
- pO 4318+ 0.0
p1 -34.73+ 0.00

[ C =28.79 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 6

T, zaue+u5/25
po 4339+ 0.0
-35.58 + 0.00

[ C=28.11 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (2,6,15

T nugplse+ud [ 25
4298+ 0.0
-34.72+ 0.00

I C =28.80 [ps/ch] ]

PR PR S S |
50 100

TP delay [ns]
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X~ 1w 1ove+U4 [ 25
4259+ 0.0
-36.1+ 0.0

TP delay [ns]

TVC(cbch) (2,7,4

-1z bboe+ud / 25
4244+ 0.0
-34.78 + 0.00

foee. pO
pl
[ C =28.76 [ps/ch] ]
o+ o
TP delay [ns]
TVC(cbch) (2 7,8

1 nuiz.848e+05 / 25
4263+ 0.0
-35.19+ 0.00

TVC(Cbch) (2, 7 12

TP delay [ns]

pO

p1

-1 iy bge+us /25
4270+ 0.0
-36.31+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000
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1000

4000 [,
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2000

1000

TVC(cbch) (2,7,1)

e, po

X1 wiz51e+ud | 25
4267 + 0.0
pL -36.57 + 0.00

TP delay

TVC(c,b ch) (2 7,5

[ns]

“nug.Yye+u4 / 25
4245+ 0.0
pl -34.79 + 0.00

TP delay

TVCebeh)=(2,7, 9

[ns]

~ 1 nuy.Zzgoe+u5 / 25
4269+ 0.0
-34.5+ 0.0

TP delay

TVC(c,b Ch) (2, 7 13

[ns]

T inup./5/e+U5/ 25
4261+ 0.0
pl -35.38+ 0.00

TP delay

[ns]
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1000

TVC(cbch) (2,7,2)

1000

. po

X~ 1w 144e+04 [ 25
4281+ 0.0
p1 -37.61% 0.00

TP delay

TVC(cbch) (2,7,6

1000

[ns]

- 193e+04 / 25
4273+ 0.0
-35.3+ 0.0

TP delay

TVC(ebeh)=(2, 7, 10

pO

[ns]

© 1 nuiz193e+U6 / 25
4265+ 0.0
pl -35.05+ 0.00

TP delay

TVC(cbch) (2,7,14

pD

[ns]

-1y sove+Us / 25
4269+ 0.0
pl -35.78+ 0.00

P R T
50 100

TP delay

[ns]
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1000

TVC(cbch) (2,7,3)
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pl

A~ 1 nuiLUsse+US / 25
4279+ 0.0
-36.42+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (2 7,7

pO
pl

- 1nug /31e+U5 / 25
4264+ 0.0
-35.14+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (2,7,

pO
pl

T Mue+u6/25
4283+ 0.0
-35.12+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 7 15

T nurs, 725e+U5 / 25
4277+ 0.0
-36.16 + 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,0)

T zuze+ud [ 25
pO 4273+ 0.0
p1 -35.23+ 0.00

TP delay [ns]

TVC(cbch) (28,4

= 1z 0sge+u4 [ 25
po 4286+ 0.0
pl -34.61+ 0.00

[C=28.89 [ps/ch] ™, 1
o+ o
TP delay [ns]
TVC(cbch) (2 8,8

< yisrerua /25
pD 4288+ 0.0
p1 -36.03+ 0.00

TP delay [ns]

TVC(cbch) (2,812

Ty yore+U5 /25
pO 4315+ 0.0
pl -35.89+ 0.00
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TVC(cbch) (2,81)

T z10e+ud [ 25
- pO 4290+ 0.0
p1 -35.92+ 0.00

TP delay [ns]

TVC(c,b ch) (2 8,5

S rnuboe+ud /25
- pO 4281+ 0.0
pL -33.79+ 0.00

[ C=29.60 [ps/ch] ™ 7

50 150
TP delay [ns]

TVC(c,b ch) (2 8,9

-1 nui/ Yooe+us / 25
= pO 4286+ 0.0
p1 -35.14 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 8 13

Tinusy41e+U5/ 25
4299+ 0.0
-36.1+ 0.0

PR R SR |
50 100

TP delay [ns]

TVC(cbch) (2,8,2)
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X~ 1wz 3y1e+U4 [ 25
- po 4293+ 0.0
[ p1 -35.24 £ 0.00
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- C =29.23 [ps/ch] ™.

50 10'0
TP delay [ns]

TVC(eb,oh)=(2, 8, 10
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- U b3ze+u4 [ 25
- pO 4298+ 0.0
[ p1 -34.21% 0.00

T UL brge+U6 / 25
po 4298+ 0.0
p1 -34.62 + 0.00

- C = 28.88 [ps/ch]
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1
50 100

TP delay [ns]

TVC(cbch) (2,8 14
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[ C=29.64[ps/ch] ™ 1
_L L

TP delay [ns]

TVC(c,b ch) (2 8,7

= 1nug Zove+us / 25
[es po 4309+ 0.0
p1 -35.37 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 8

EEALEVX uuze+u6/25
k. pO 4316+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 8 15

T nuiugbe+u6 / 25
4322+ 0.0
-37.21+ 0.00

TP delay [ns]
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AT 1nuiLsyre+ud /25
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TVC(cbch) (2,94

-1z g14e+u4 [ 25
4264+ 0.0
-37.33% 0.00

== po
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e 4
% =
TP delay [ns]
TVC(c,b ch) (2, 9 8
o pD

T 1L b4 e+U5 / 25
4260+ 0.0
-35.43+ 0.00

TP delay [ns]

TVC(cbch) (2,9,12
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p1

© g pzze+U5 / 25
4255+ 0.0
-36.38 + 0.00
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4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 E,

3000

2000

1000

TVC(cbch) (2,9,1)
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TP delay

TVC(c,b ch) (2 9,5

[ns]

- U gobe+u4 [ 25
4269+ 0.0
pl -37.96 + 0.00

TP delay

TVC(c,b ch) (2 9,9

= po

[ns]

~ 1 nuy.gble+us / 25
4265+ 0.0
pl -35.04 + 0.00

TP delay

TVC(C, bch) (2,9,13
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T nug. 1bve+U5 / 25
4249+ 0.0
pl -35.86 + 0.00
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4259+ 0.0
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TP delay [ns]

TVC(cbch) (2, 9 10
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1 nuiL 3o8e+U6 / 25
4284+ 0.0
-35.04 + 0.00
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100
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T 1nug.z91e+U5 / 25
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50 100
TP delay [ns]

TVC(c,b ch) (2, 9

T buze+u6/25
4279+ 0.0
-35.58 + 0.00

TP delay [ns]

TVC(C, bch) (2,9,15

T nugplye+Us/ 25
4254+ 0.0
-36.07 + 0.00

TP delay [ns]
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- rnuz 1oze+04 / 25
e, pO 4254+ 0.0
p1 -35.03+ 0.00

TP delay [ns]

TVC(cbch) (2,10,8

1 nuiLuyve+Us / 25
- pO 4275+ 0.0
pl -36.12+ 0.00
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~ b, pl1e+U5 / 25
po 4288+ 0.0
pl -35.35+ 0.00
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3000

TP delay [ns]

TVC(Cbch) (2, 10 6

- rnunyz1e+ud [ 25
- pO 4286+ 0.0
[ p1 -35.84+ 0.00

TP delay [ns]

TVC(e,beh)=(2, 10, 10

T nuiLy41e+U6 / 25
po 4318+ 0.0
p1 -36.21+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 10 14

T g.29e+05/ 25
F pD 4286+ 0.0
L pl -35.43+ 0.00

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2, 10 3)

S 7 1405/25
e pO 4253+ 0.2
pL -36.04 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 10 7

= po 4278+ 0.0
p1 -35.62+ 0.00

1 1nuig.ubbe+U5 / 25

TP delay [ns]

TVC(eheh)=(2,10, 11

po 4321 0.0
p1 -37.08+ 0.00

U3 5e+U6 / 25

TP delay [ns]

TVC(cbch) (2, 10 15

k. pO 4279+ 0.0
pL -34.33+ 0.00

1 nu bzye+Us / 25

TP delay [ns]
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4000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2,11,0)

X~ 1w ssve+U4 [ 25
4235+ 0.0
p1 -35.45 + 0.00

TP delay

TVC(cbch) (2, 11 4

[ns]

-1z zzae+04 | 25
4244+ 0.0
-34.65+ 0.00

- pO
pl
[ C =28.86 [ps/ch]™_ 7]
- o
TP delay [ns]
TVC(c,b, ch) (2, 11 8)
- a1 r5e+05 / 25
== pD 4269+ 0.0
pl —36.A61;‘

TP delay [ns]

TVC(c,b Ch) (2, 11 12

po
p1

T g, 143e+05 / 25
4284+ 0.0
-35.22+ 0.00

TP delay [ns]
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2000

1000

4000
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1000

4000
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2000

1000

4000

3000

2000

1000

TVC(CbCh) (2,11,1)

e, po

AT 1 nuzusze+u4 | 25
4250+ 0.0
p1 -36.03 + 0.00

TP delay

TVC(c,b Ch) (2, 11 5

[ns]

~1nu.4z1e+u4 [ 25
4252+ 0.0
pl -35.55+ 0.00

TP delay

TVC(eh.eh)=(2, 11, 9

[ns]

T nuy, /bze+U5 / 25
4279+ 0.0
pl -35.68 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (2, 11 13

T inusu/e+us / 25

pO
p1

4284+ 0.0
-35.07 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000 [,
3000

2000

4000
3000
2000

1000

TVC(CbCh) (2,11, 2)

= po

X~ 1wz 38e+04 [ 25
4259+ 0.0
p1 -36.16 + 0.00

TP delay

TVC(chh) (2, 11 6

- P°

[ns]

- 1nuig.430e+04 / 25
4261+ 0.0
pl -35.72+ 0.00

TP delay

TVC(cbch) (2,11, 10

1000

[ns]

X~ 1L 820e+U6 / 25
po 4284+ 0.0
p1 -34.59 % 0.00

TVC(Cbch) (2,11,3)

A~ 1 iz bube+us | 25
4259+ 0.0
pL -35.76 + 0.00

4000 (e

po

3000

2000

1000

TP delay

TVC(CbCh) (2, 11 7

4000 &

[ns]

- nun1.89e+U5 / 25
4267+ 0.0
-35.6 + 0.0

3000

2000

1000

TP delay

TVC(Ebeh=(2, 11, 11

4000 [,

[ns]

Tinair8/e+U6 / 25
4270+ 0.0
p1 -34.78 + 0.00

3000

2000

1000

1
100

TP delay [ns]

TVC(c,b Ch) (2, 11 14)

pD
pl

TP delay [ns]

TVC(c,b Ch) (2, 11 15)

~ g 5oze+U5 / 25
4293+ 0.0
-35.96 + 0.00

T nup,po1e+U5 / 25
4286+ 0.0
-35.51+ 0.00

P R T
50 100

TP delay [ns]

3000

2000

1000

TP delay [ns]



4000
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1000

TVC(CbCh) (2, 12 0)

Tz n1e+u4 /25
4257+ 0.0
p1 -37.07 + 0.00

TVC(c,b ch) (2,12,

4000 [ po

1)

X- 1 . sbae+U4 | 25
4270+ 0.0
-38.03+ 0.00

p1

3000

2000

1000

TP delay [ns]

TVC(Cbch) (2, 12 4

TP delay [ns]

TVC(c,b Ch) (2, 12 5

- i z9ze+04 [ 25
=5 po 4279+ 0.0
pl -36.11 + 0.00

4000
3000 [~ ]
2000~ 7]
1000 C 7]
1 1 -
50 100
TP delay [ns]
TVC(c,b, ch) (2, 12 8)
1 nuib,Ubse+u4 / 25
4000 [ pD 4257+ 0.0
-34.65+ 0.00
3000 - 7
2000 = 7
10 C = 28.86 [ps/ch]™_ 1
1 1 -
b 50 100
TP delay [ns]

4000

3000

2000

1000

TVC(Cbch) (2, 12 12

pO

- 1y quve+Us / 25
4297+ 0.0
pl -35.89+ 0.00

TP delay

L n n n n 1 n
50 100

[ns]

-1 sive+ud [ 25
4000 em, po 4290+ 0.0
pl -36.51+ 0.

36.51+ 0.00

3000 [ 1
2000 [ 7]
1000 C 7]
L L=
50 00
TP delay [ns]

TVCEebeh)=(2 12,9

4000 5 pO

pl

T a4 9e+U5 [ 25
4276+ 0.0
-35.43 + 0.00

3000

2000

1000

1
100

TP delay [ns]

TVC(c,b ch) (2, 12 13

4000 pO

p1

Tonazz1e+u5 /25
4278+ 0.0
-34.62+ 0.00

3000
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1000

TP delay [ns]

4000
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1000

4000
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2000

1000

4000

3000
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1000

4000
3000

2000

TVC(CbCh) (2,12,2)

- po

K™ 1nuiza41e+04 | 25
4279% 0.0
p1 -37.27+ 0.00

TVC(Cbch) (2,12,3)

A~ 1 nuiz3r0e+ud [ 25
4277+ 0.0
pL -36.43+ 0.00

4000 [u
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3000

2000

1000

TP delay [ns]

TVC(Cbch) (2, 12 6

TP delay [ns]

TVC(c,b Ch) (2, 12 7

T nugylze+u4 | 25
- pO 4295+ 0.0
- pl -36.45+ 0.00

TP delay

TVC(e b eh)=(2, 12, 10

o pO

[ns]

1 nuiLzu4e+U6 / 25
4278+ 0.0
p1 -34.73+ 0.00

TP delay

TVC(c,b Ch) (2, 12 14

1000

pD
pl

[ns]

~ g, suoe+U5 / 25
4295+ 0.0
-35.59 + 0.00

TP delay

[ns]

4000

- i zve+U5/ 25
pO 4324+ 0.0
p1 -37.38+ 0.00

3000

2000

1000

50 160
TP delay

TVC(eheh)=(2, 12, 11

4000 [,

[ns]

T nui 382e+U6 / 25
4283+ 0.0
-34.8+ 0.0

3000

2000

1000

TP delay

TVC(cbch) (2, 12 15

4000 [,

[ns]

T 1 nug.pb3e+us / 25
4282+ 0.0
p1 -34.87 + 0.00
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1000

TP delay
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1000
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TVC(CbCh) (2,13,0)

A1,

r9oe+U4 [ 25
4264+ 0.0
-36.64 + 0.00

TVC(c,b ch) (2,13,

4000 fm, po

1)

AT 1 nuiLyzze+u4 | 25
4281+ 0.0
-36.36 + 0.00

p1

3000

2000

1000

1
100

TP delay [ns]

TVC(Cbch) (2, 13 4

TP delay [ns]

TVC(c,b Ch) (2, 13 5

- rnub2ee+04 [ 25
- po 4305+ 0.0
pl -39.88+ 0.4

-39.88 + 0.00

TP delay [ns]

TVC(cbch) (2,13,8

- i 2. 9se+ud [ 25
e, pD 4262+ 0.0
pl -35.85+ 0.

-35.85 + 0.00

TP delay [ns]

TVC(Cbch) (2, 13 12

po
p1

1z, 198e+U5 / 25
4284+ 0.0
-36.46 + 0.00

TP delay [ns]

- 1nuedre+u4 [ 25
4000 f& pO 4307+ 0.0
pl -39.36 + 0.00

3000

2000

1000

TP delay [ns]

TVCEebeh)=(2, 13,9

4000 pO

pl

T nug.ayle+us / 25
4277+ 0.0
-34.57 + 0.00

3000

2000

1000

1
100

TP delay [ns]

TVC(c,b ch) (2, 13 13

4000 [,

Tinui/b/e+u5/ 25
4279+ 0.0
-35.83+ 0.00
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TP delay [ns]
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1000
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1000
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1000
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1000

TVC(CbCh) (2,13,2)

- P

X~ 1 nuizu0/e+u4 [ 25
4271 0.0
p1 -36.32+ 0.00

TVC(Cbch) (2,13,3)

A1z sa0e+U4 | 25
4286+ 0.0
p1 -36.84 + 0.00

4000 [u
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3000

2000

1000

TP delay [ns]

TVC(Cbch) (2, 13 6

TP delay [ns]

TVC(c,b Ch) (2, 13 7

-1 nuig 159e+04 / 25
e pO 4318+ 0.0
[ p1 -39.47 + 0.00

TP delay

TVC(Ee b eh)=(2, 13, 10

pO

[ns]

1 nuiLUb3e+U6 / 25
4284+ 0.0
pl -35.06 + 0.00

TP delay

TVC(c,b Ch) (2, 13 14

[ns]

Ty e+U5 /25
4281+ 0.0
pl -35.73+ 0.00

TP delay

[ns]

- Uy 58 /e+U4 [ 25
4000 @ pO 4316 0.0
pL -38.93+ 0.00

3000

2000

1000

TP delay

TVC(ehoh)=(2, 13, 11

4000 o pO

1=
50 00

[ns]

1 nuiL 3yze+u6 / 25
4285+ 0.0
pl -35.97 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (2, 13 15

4000 [,

[ns]

- 1 nuiL yyae+us / 25
4282+ 0.0
-35.44+ 0.00
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2000

1000

TP delay
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1000

4000

3000
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1000

0

4000 [,
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1000

TVC(CbCh) (2, 14 0)

- 1 i sUae+U4 [ 25
= pO 4231% 0.0
p1 -35.49+ 0.00

TP delay [ns]

TVC(Cbch) (2, 14 4

- rnuz.a15e+04 / 25
- pO 4242+ 0.0
p1 -36.74 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (2,14,8

T L8 /e+U5 / 25
- pO 4284+ 0.0
p1 -37.27 + 0.00

TP delay [ns]

TVC(Cbch) (2, 14 12

T4y re+U5 /25
po 4264+ 0.0
pl -35.48+ 0.00

L n n n n 1 n
50 100
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1000
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2000

1000

4000

3000

2000

1000

TVC(chh) (2,14,1)

x- 1205 e+Ud | 25
e, po 4235+ 0.0
pL -35.86+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 14 5

T nan2.29e+04 [ 25
== po 4272+ 0.0
pl -37.17 + 0.00

TP delay [ns]

TVCebeh)=(2, 14,9

T nuiL 1b3e+U6 / 25
po 4298+ 0.0
p1 -37.03+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 14 13

T nug zsse+us [ 25
- pO 4266+ 0.0
p1 -36.85+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

3000
2000

1000

0

4000 =,
3000
2000

1000

TVC(CbCh) (2,14,2)

X~ 1z blze+ud [ 25
= po 42351+ 0.0
L pl -35.65+ 0.00

TP delay [ns]

TVC(Cbch) (2, 14 6

T g4 /5e+04 [ 25
4275+ 0.0
-36.4+ 0.0

TP delay [ns]

TVC(e b eh)=(2, 14,10

4000

T L5l e+U6 / 25
po 4307+ 0.0
p1 -36.91+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 14 14

- 1w gude+Us / 25
pD 4263+ 0.0
pl -36.02 + 0.00
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TVC(Cbch) (2,14,3)

A~ 1 nuizs20e+U4 [ 25
- po 4237+ 0.0
pL -34.61+ 0.00

[ C =28.89 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (2, 14 7

= nuiL z53e+us / 25
po 4268+ 0.0
p1 -35.92+ 0.00

TP delay [ns]

TVC(ehch)=(2, 14, 11

T inui743e+U6 / 25
4309+ 0.0
-37.2+ 0.0

TP delay [ns]

TVC(cbch) (2, 14 15

T nu,/ 8e+U5 / 25
. pO 4260+ 0.0
p1 -35.62 + 0.00

TP delay [ns]
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1000
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1000

4000 [,

3000
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1000

TVC(CbCh) (2, 15 0)

1 nuiz,u4ye+ud [ 25
4232% 0.0
-35.54 + 0.00

TP delay [ns]

TVC(Cbch) (2, 15 4

- 1nuz.434e+04 [ 25
= pO 4248+ 0.0
pl -35.56 + 0.4

-35.56 + 0.00

- C =
1 1 -
50 100
TP delay [ns]
TVC(c,b, ch) (2, 15 8)
- g syye+ud / 25
= pO 4270+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(Cbch) (2, 15 12

po
p1

~1nuiz419e+05 / 25
4271+ 0.0
-35.09 + 0.00

TP delay [ns]
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2000

1000
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1000

4000 [
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2000

1000

4000 5,

3000

2000

1000

TVC(chh) (2,15,1)

e, po

AT 1nuzur1e+u4 [ 25
4244+ 0.0
-35.43+ 0.00

p1

1
100

TP delay [ns]

TVC(c,b Ch) (2, 15 5

- U base+ud [ 25
= 4243+ 0.0
-34.57 + 0.00

[ C =28.93 [ps/ch]

1
50 100

TP delay [ns]

TVC(ebeh)=(2 15,9

po
pl

T nui go3e+Us [ 25
4286+ 0.0
-35.82 + 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (2, 15 13

<1 nui bzae+U5 / 25
4261+ 0.0
-34.71+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

4000 [,
3000
2000

1000

TVC(CbCh) (2, 15 2)

- "

-1, s7se+u4 [ 25
4248+ 0.0
p1 -35.48+ 0.00

TP delay [ns]

TVC(Cbch) (2, 15 6

1000

0

a2, 849e+04 | 25
e pO 4258+ 0.0
- pl -35.75+ 0.00

TP delay

TVC(epeh)=(2, 15, 10

pO
pl

[ns]

1 nuiL43pe+U6 / 25
4313+ 0.0
-37.12+ 0.00

TP delay

TVC(c,b Ch) (2, 15 14

[ns]

T, 41e+05 / 25
4275+ 0.0
-35.19+ 0.00

TP delay

[ns]
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1000
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1000

4000

3000

2000

1000

TVC(Cbch) (2,15,3)

o po

pl

A~ 1 nuiz, 155e+U4 [ 25
4255+ 0.0
-35.5+ 0.0

1
100

TP delay [ns]

TVC(c,b Ch) (2, 15 7

-1 nug.Yuse+u4 / 25
pO 4268+ 0.0
p1 -35.92:+ 0.00

TP delay

TVC(ehch)=(2, 15, 11

TnuiL13/e+U6 / 25
4284+ 0.0
p1 -35.27 + 0.00

pO

[ns]

TP delay

TVC(cbch) (2, 15 15

[ns]

-1 nug g4re+Us [ 25
4258+ 0.0
-33.06 + 0.00

[ C=30.25[ps/ch] ™=

PR R SRR |
50 100

TP delay

[ns]
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wof C = 29,51 [ps/ch] ™, 7
0 5;) 10'0 :

4000

3000

2000

1000

TVC(cbch) (3,0,0

A~ 1 nuigsaae+04 | 25
= po 4265+ 0.0
p1 -37.98+ 0.00

TP delay [ns]

TVC(cbch) (3,0,4

- Inuip1ze+04 [ 25
== po 4277+ 0.0
pl -37.48 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (3 0,8

_ - Gs1e+04 1 25
e pD 4223+ 0.0
-33.89+ 0.00

TP delay [ns]

TVC(Cbch) (3, O 12

- 1wy zove+Uus / 25
= po 4291+ 0.0
pl -35.46 + 0.00

TP delay [ns]
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2000

1000
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2000

1000
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1000

4000
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1000

TVC(cbch) (3,01

x- 1265 e+U4 | 25
e, po 4234+ 0.0
pL -36.52:+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,5

“rnuzyz/e+u4 [ 25
- pO 4267+ 0.0
pL -36.58+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,9

1 numgb2Ye+U5 / 25
pO 4257+ 0.0
p1 -34.46 + 0.00

[ C =29.02 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b Ch) (3, O 13

T nuzvble+us/ 25
= pO 4276+ 0.0
-35.55+ 0.00

TP delay [ns]

4000
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:
10005— C =29.61 [ps/ch] ™, '
.
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TVC(cbch) (3,0,2)

1000

TP delay [ns]

TVC(cbch) (3,06

1000

X~ 1 nuig 133e+04 [ 25
- po 4254+ 0.0
[ p1 -37.05+ 0.00

3000

- 11Uy 934e+04 [ 25
- pO 42911 0.0
[ pl -37.92+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 0, 10

— 1 nuiLboYe+U6 / 25
- po 4244+ 0.0
o pl -33.77 + 0.00

TP delay [ns]

TVC(cbch) (3,0,14

-1 nuizpzoe+U5 / 25
- pD 4288+ 0.0
L pl -35.98 + 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (3,0,3

A1 nuig, 21e+u4 [ 25
- po 4261% 0.0
pL -37.03+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,7

= nun1731e+U5 /25
= po 4296+ 0.0
p1 -37.81+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, O

- T 149e+u6/25
= pO 4254+ 0.0
p1 -34.51+ 0.00

I C =28.98 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (3, O 15

T nug.uz/e+u5/ 25
4267+ 0.0
-34.51+ 0.00

[ C =28.98 [ps/ch] ]
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50 100
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TVC(cbch) (3,1,0

AT inugzse+V4 /25
fee po 4240+ 0.0
pl -37.05+ 0.00

TP delay [ns]

TVC(cbch) (31,4

-1z goye+ud [ 25
e, pO 4259+ 0.0
pl -35.97+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 1,8

T b.9se+u4 / 25
- pO 4246+ 0.0
pl -35.28 + 0.00

TP delay [ns]

TVC(cbch) (31,12

T run.usse+us / 25
= po 4262+ 0.0
p1 345+ 0.0

[ C =28.99 [ps/ch]
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pO 4248+ 0.0
pl -36.87 + 0.00

TP delay [ns]

TVC(c,b ch) (3 1,5

-1 Uz yyye+ud / 25
pO 4246+ 0.0
pL -35.36+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,9

~ 1 nug. Zbge+us / 25
po 4248+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(cbch) (3,1,13

Tinuazyre+us /25
pO 4277+ 0.0
pl -36.57 + 0.00
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TVC(cbch) (3,1,2)
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TVC(cbch) (31,6

- g yzze+u4 | 25
e pO 4266+ 0.0
[ pl -36.11+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 1 10

T nuiL3roe+U6 / 25
- po 4240+ 0.0
o pl -34.69 + 0.00
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3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (5,15,2)

- po

X~ 1 g boze+u4 [ 25
4315+ 0.0
p1 -36.46 £ 0.00

TP delay

TVC(Cbch) (5, 15 6

F= P°

[ns]

- 1nug 151e+04 / 25
4287+ 0.0
pl -36.66 + 0.00

TP delay

TVC(e,b,ch)=(5, 15, 10

- b

[ns]

~ 1 nuy.ploe+Us / 25
4303+ 0.0
p1 -35.44 + 0.00

TP delay

TVC(CbCh) (5, 15 14

~ o

[ns]

©1nuig.4z9e+U5 / 25
4322+ 0.0
pl -35.89+ 0.00

TP delay

[ns]

TVC(Cbch) (5,15,3)

4000 [

po
pL

A1z, r4pe+U4 [ 25
4326+ 0.0
-35.28 + 0.00

3000 -

2000

woo- C = 28.35 [ps/ch]

1 1
50 100

TP delay

TVC(c,b Ch) (5, 15 7

4000 [ pO

[ns]

-1 nui 198e+U5 / 25
4289+ 0.0
pl -35.94+ 0.00

3000 -

2000 -

w0r C = 27.82 [ps/ch

TP delay

TVC(e.beh)=(5, 15, 11

T nuz1/3e+U5/ 25
4322+ 0.0
pl -36.06 + 0.00

4000 [u

pO

[ns]

3000

2000

1000

TP delay

TVC(cbch) (5, 15 15

4000 R,

[ns]

T nug.gpl1e+U5/ 25
4306+ 0.0
p1 -35.27 + 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,0

A~ 1 nuiL Y rse+ud [ 25
E 4205+ 0.0
-33.92+ 0.00

[ C =29.49 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (60,4

I fore+u4 [ 25
== po 4225+ 0.0
pl -33.88+ 0.00

[ C =29.52 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (6 0,8

- Ss1e+04 1 25
- po 4235+ 0.0
p1 -35.82:+ 0.00

TP delay [ns]

TVC(cbch) (6,0,12

-1 nu,

b, po
p1

1zoe+U4 /25
4265+ 0.0
-35.18 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,01

AT 1nugzz1e+U4 (25
k. po 4223+ 0.0
p1 -35.37 + 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 0,5

-1 nu.bl4e+u4 [ 25
- pO 4238+ 0.0
pL -35.39+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,9

~ 1 nuiL z3oe+U5 / 25
= pO 4255+ 0.0
p1 -36.42+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, O 13

T 1nuis10ze+ud / 25
4261+ 0.0
-35.54+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (6,0,2)

X~ 1 iz 2upbe+u4 [ 25

TP delay [ns]

TVC(cbch) (60,6

-, po 4227+ 0.0
[ p1 -34.78 + 0.00

3000

T, (z4e+04 | 25
- pO 4255+ 0.0
- pl -35.64 + 0.00

TP delay [ns]

TVC(eb,ch)=(6, 0, 10

1000

© 1 nuz,345e+05 / 25
- po 4268+ 0.0
- pl -35.65+ 0.00

TP delay [ns]

TVC(cbch) (6,0,14

-1 nug,

= P"
pl

r94e+04 1 25
4255+ 0.0
-35.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3

A1 nuz51re+ud [ 25
- po 4243+ 0.0
pL -35.44 + 0.00

TP delay [ns]

TVC(c,b ch) (6 0,7

1 nu az3e+ud | 25
= po 4260+ 0.0
pl -34.65+ 0.00

[ C =28.86 [ps/ch]

50 160
TP delay [ns]

TVC(c,b ch) (6, O

ERALEVX b‘Jde+U5/25
= po 4273+ 0.0
p1 -35.46 + 0.00

TP delay [ns]

TVC(c,b ch) (6, O 15

1 nuis.ysoe+ud / 25
4272+ 0.0
-35.81+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

1000
i ]
o ]
ol C = 29.04 [ps/ch] ™, ]

R

4000

3000

2000

1000

TVC(cbch) (6,1,0

A~ 1 nuzO1ye+ud | 25
o, po 4235+ 0.0
p1 -36.77+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6.1,4

- rnuig 334e+04 [ 25
= po 4232+ 0.0
pl -34.13+ 0.00

[ C =29.30 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (6 18

TrnunLuse+u5 /25
= po 4252+ 0.0
p1 -34.44 + 0.00

TP delay [ns]

TVC(cbch) (61,12

— T rnuzg41e+05 / 25
- po 4250+ 0.0
p1 -35.5+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1

AT 1 nuzusLe+u4 25
- po 4255+ 0.0
p1 -37.29+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

_ -1 nu asge+ud | 25
peee. po 4218+ 0.0
pl -35.14 + 0.00

50 150
TP delay [ns]

TVC(c,b ch) (6 1,9

T nuiL 38 /e+U6 / 25
= 4275+ 0.0
-34.53 + 0.00

[ C =28.96 [ps/ch] 7]

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, l 13

— T inai Zoe+U5 / 25
4246+ 0.0
-35.31+ 0.00

PR R SR |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,1,2)

X~ 1 iz zove+u4 [ 25
-, po 4272+ 0.0
[ p1 -37.75+ 0.00

3000

TP delay [ns]

TVC(cbch) (61,6

T g, r39e+u4 [ 25
- pO 4255+ 0.0
[ pl -35.93+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(6, 1, 10

T nuiLb r8e+U6 / 25
- po 4286+ 0.0
- pl -35.18 + 0.00

3000

TP delay [ns]

TVC(cbch) (61,14

~ 1L b43e+U5 / 25
= pD 4244+ 0.0
L p1 -34.88 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3

A~ 1 nuiz529e+U4 [ 25
- po 4254+ 0.0
pL -37.28+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

S nue, /(3e+U4 [ 25
- pO 4245 0.0
p1 -34.62:+ 0.00

[ C =28.88 [ps/ch]

50 160
TP delay [ns]

TVC(c,b ch) (6, l

T, 115e+u6125
- pO 4295+ 0.0
p1 -35.17 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 1 15

- 1 nuiz ozse+U5 / 25
e pO 4251+ 0.0
p1 -35.45 + 0.00

TP delay [ns]



TVC(cbch)(620) TVC(cbch)(621) TVC(cbch)(622) TVC(cbch)(623)
A1z buse+ud / 25 A~ 1z byre+ud | 25 A” 11z bage+ud | 25 A~ 1nugusle+ud / 25

4000 PO 4260+ 0.0 4000 [, po 4268+ 0.0 4000 __- po 4266 + 0.0 4000 e, po 4271+ 0.0
pl -37.3+ 0.0 pl -35.93+ 0.00 r pl -35.29+ 0.00 pl -36.36 + 0.00

3000

B 3000 - 3000 - 3000 4

2000 b 2000 — 2000 — 2000

1000 1000 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (62,4 TVC(cbch) (62, TVC(cbch) (62,6 TVC(c, bch) (6.2,

Tnug u)b\:)eﬂJA 125 U, S)bbE+U4/25 Tnuig,; 2b4€+U4 125 TN 24/E+04/25
4000 pO 4272+ 0.0 4000 [, pO 4278+ 0.0 4000 [, pO 4292+ 0.0 4000 s pO 4306+ 0.0
pl 3576+ 000 Pl -36.04%0.00 [ PL_ -35.63% 0.00 Pl -36.09:+ 0.00
3000 - 3000 E 3000 ] 3000 [ B
2000 -] 2000 m 2000 ] 2000 -
w00 - w00 C b w0 C = 28.06 [ps/ch] . wor C = 27,71 [ps/ch ]
1 1 - 1 1 - E 1 1 - 1 1 -
EY 00 50 100 50 00 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ehich=(6,2,8) TVC(e.e=(6,2,9) TVC(eb.ch=(6, 2, 10) TVC(ehe)=(6, 2, 11)
T a5 oe+ud /25 -1 g bube+Us / 25 © 1 Uy p4se+Us / 25 -1 usBe+u6 / 25
4000 fome, pO 4276+ 0.0 4000 fae, pO 4318+ 0.0 4000 fome, DO 4309+ 0.0 4000 fs p0 4323+ 0.0
Pl -34.87: 000 Pl -36.84% 0.00 L PL_ -3558% 0.00 -365 ¢ 0.0

- 3000

3000~ N 3000 - 3000 -

2000 ] 2000

2000 [~ 2000

1000 1000 1000

wo- C = 28.67 [ps/ch]

1
0 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(621 ) TVC(cbch)(6213) TVC(Cbch)(621 ) TVC(cbch)(6215)
T g z3oe+Us / 25 Tinai/4/e+U5/ 25 - 1L bo4e+U5 / 25 T nuiz p3ze+U5 / 25
4000 pO 4263+ 0.0 4000 e, pO 4293+ 0.0 4000 PD 4278+ 0.0 4000 o, pO 4296+ 0.0
pl -34.7+ 0.0 pl -36.42+ 0.00 F pl -35.18+ 0.00 pl -35.59 + 0.00

- 3000

3000~ T 3000 -1 3000 -1

2000 2000 2000 - 2000

1000 1000 4 1000

1000~ C = 28.82 [pS/Ch]

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,0)

K™ 1 nui gole+ud /25
po 4255+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(cbch) (63,4

T rnuza8/e+04 [ 25
pO 4290 0.0
pl -37.35+ 0.00

- C -1
5(‘) 10‘0 =
TP delay [ns]
TVC(cbch) (6 3,8

a2 yoge+u4 | 25
po 4294+ 0.0
-35.9+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (6,312

Tz, 135e+05 / 25
pO 4289+ 0.0
pl -35.53+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,1)

AT 1nuzuL/e+u4 [ 25
po 4262+ 0.0
pl -36.82+ 0.00

TP delay [ns]

TVC(c,b ch) (6 3,5

- U 3n3e+u4 [ 25
pO 4291+ 0.0
pL -36.31% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 3,9

[ C =28.41 [ps/ch]

-1 nub.Yupe+us / 25
po 4301+ 0.0
-35.2+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (63,13

- I nuiL.a44e+U5 | 25
po 4276+ 0.0
pl -34.9 + 0.0

[ C =28.66 [ps/ch]

50

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,3,2)

T za/e+ud /25
pO 4273+ 0.0
pl -36.63+ 0.00

TP delay [ns]

TVC(cbch) (63,6

T rnuzgu/e+ud [ 25
pO 4295+ 0.0
pl -36.03+ 0.00

TP delay [ns]

TVC(cbch) (6, 3 10

T 1L, r62e+U6 / 25
DO 4325+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(cbch) (6,3 14

-1 nuiz,uuse+Us / 25
pD 4279+ 0.0
pl -35.97 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,3)

T Lyze+ud [ 25
pO 4274+ 0.0
pl -35.69 + 0.00

TP delay [ns]

TVC(c,b ch) (6 3,7

“nui1z/e+U5/ 25
pO 4302+ 0.0
pL -35.57+ 0.00

TVC(c,b ch) (6, 3

TP delay [ns]

T 4b/e+u6/25
pO 4306+ 0.0
pl -35.39+ 0.00

TP delay [ns]

TVC(C, bch) (63,15

T nuis.usve+Us / 25
pO 4295+ 0.0
p1 -36.19+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,0

AT inuLsrse+u4 /25
- po 4256+ 0.0
pl -35.88 0.00

TP delay [ns]

TVC(cbch) (6.4,4

T 1 sze+ud [ 25
- pO 4242+ 0.0
pl -33.95+ 0.00

[ C =29.46 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 4,8

T, ryse+u4 | 25
- pO 4247+ 0.0
p1 -35.42 + 0.00

TP delay [ns]

TVC(cbch) (64,12

~ 1 nuiL4zoe+U5 / 25
= po 4273+ 0.0
p1 -33.4+ 0.0

[ C=29.94 [ps/ch] ™ 1]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1

AT 1z izse+ud [ 25
foe. po 4234+ 0.0
pl -35.36 + 0.00

TP delay [ns]

TVC(c,b ch) (6 4,5

“nu.z3le+u4 [ 25
- pO 4242+ 0.0
p1 -34.71% 0.00

TP delay [ns]

TVC(c,b ch) (6 4,9

~ 1 nuiLazge+u5 / 25
= po 4263+ 0.0
p1 -35.02 £ 0.00

TP delay [ns]

TVC(C, bch) (64,13

Tinan g oe+u5 /25
= pO 4274+ 0.0
pl -34.54 + 0.00

[ C =28.95 [ps/ch]

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

A~ 1 nuz4sae+04 /25
__— po 4249+ 0.0
o pl -35.99+ 0.00

3000

TP delay [ns]

TVC(cbch) (64,6

- rnuz.410e+04 / 25
- pO 4246+ 0.0
[ pl -35.18+ 0.00

TP delay [ns]

TVC(cbch) (6, 4 10

1 nuip,UbBe+US / 25
__ DO 4289+ 0.0
- pl -34.59 + 0.00

TP delay [ns]

TVC(cbch) (64,14

Trnug1zie+u4 [ 25
- pD 4282+ 0.0
5 pl -33.56 + 0.00

- C =29.80 [ps/ch] ™-. 1

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3

AT 1 nuzovie+ud [ 25
=3 po 4264+ 0.0
p1 -35.6 + 0.0

TP delay [ns]

TVC(c,b ch) (6 4,7

-1 nug boze+u4 / 25
- pO 4256+ 0.0
p1 -34.75+ 0.00

[ C =28.78 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 4

T 4U4e+u5/25
4280+ 0.0
-33.73+ 0.00

[ C=29.65[ps/ch] ™ ]

1
50 100

TP delay [ns]

TVC(C, bch) (64,15

T inuizb/e+u5 /25
4278+ 0.0
-34.4+ 0.0

[ C =29.07 [ps/ch] ]

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0

A~ 1 nuiLoure+ud [ 25
e po 4261% 0.0
p1 -35.63+ 0.00

TP delay [ns]

TVC(cbch) (65,4

[ C =29.36 [ps/ch]

T g4.51e+04 / 25
= pO 4254+ 0.0
p1 -34.05+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6 5,8

- 41/e+04 1 25
= po 4275+ 0.0
p1 -35.64 + 0.00

TP delay [ns]

TVC(cbch) (65,12

-1 nuizyose+us / 25
= po 4280+ 0.0
pl -35.44+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,1

A7 1 nuiLyyse+u4 / 25
- po 4272+ 0.0
pl -35.55+ 0.00

TP delay [ns]

TVC(c,b ch) (6 55

~ 1 nug, obe+04 [ 25
== 4250+ 0.0
-33.88 + 0.00

[ C=29.52[ps/ch] ». ]

50 150
TP delay [ns]

TVC(c,b ch) (6 59

T inun1yoe+us / 25
= po 4268+ 0.0
pl -35.08 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 5 13

Tinuzpl/e+u5/ 25
= pO 4302 0.0
p1 -35.88+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,2)

TP delay [ns]

TVC(cbch) (6,56

X~ 1z Os1e+u4 [ 25
- po 4285+ 0.0
[ p1 -36.34 £ 0.00

3000

- 11Uy .9uve+ud / 25
fo, pO 4266+ 0.0
[ p1 -34.03+ 0.00

- C = 29.39 [ps/ch] ™.

50 10'0
TP delay [ns]

TVC(eb,oh)=(6, 5, 10

T ULy be+U6 / 25
- po 4288+ 0.0
- pl -35.36+ 0.00

TP delay [ns]

TVC(cbch) (6,5,14

T L z3pe+U5 / 25
F-. pD 4275+ 0.0
| -34.95+ 0.00

F C = 28.61 [ps/ch]

PR R R S R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,53)

i Zzievud ] 25
- pO 4268+ 0.0
pL -34.72.+ 0.00

[ C =28.80 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 57

= 1y go3e+ud | 25
= po 4267+ 0.0
pl -34.93+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 5

RIS zaze+u6/25
- pO 4294+ 0.0
p1 -35.24+ 0,00

TP delay [ns]

TVC(c,b ch) (6, 5 15

T nuiLgoe+U5 /25
e po 4290+ 0.0
p1 -35.87 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,0)

po

pl

A~ 1 nui 34ae+04 / 25
4256+ 0.0
-35.27+ 0.00

TP delay [ns]

TVC(cbch) (6.6,4

pO
pL

- L y3ge+ud / 25
4240+ 0.0
-34.87 + 0.00

TP delay [ns]

TVC(cbch) (6 6,8

Srnu z8re+u4 [ 25
4275+ 0.0
-35.48 + 0.00

TVC(Cbch) (6, 6 12

TP delay [ns]

po
p1

T 1 gse+us /25
4288+ 0.0
-35.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,1)

= po

A7 1 nuiLbyve+u4 [ 25
4266 + 0.0
-35.67 + 0.00

p1

1
100

TP delay [ns]

TVC(c,b ch) (6 6,5

~nun z.ape+04 [ 25
4267+ 0.0
-36.15+ 0.00

TP delay [ns]

TVC(c,b ch) (6 6,9

© 1 nug 38Ye+U5 / 25

4298+ 0.0
-34.63+ 0.00

[ C =28.88 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b Ch) (6, 6 13

pO
p1

T nuia4ze+U5/ 25
4282+ 0.0
-35.42+ 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (6,6,2)

A1,

- P
pl

rove+u4 /25
4260+ 0.0
-35.31+ 0.00

TP delay [ns]

TVC(cbch) (66,6

= P°

p1

©1nu.448e+04 | 25
4253+ 0.0
-35.33 + 0.00

TP delay [ns]
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